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—\ FmEN:
3-BEER HH(G3P) 4 HmBEER S LEB(GPO)E AT E U R (H02), H0: 5 4-FERBEMINKE
RNARBIEERXMEY, BEE 510nm SFFERKIE, @Big4eMN 510nm 4K SEERI TS H HiRE
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A B R AR REFEK #3x
REUR | Bk 100mLx1 Jf | 4°CiR77
i ol 1 I popr | PHRLTERMEARS, &

L imL K, RORHER

HFZ | RIE 2mLx1 3 | 4°CIRTF
HF= | KK 6mLx1# | 4°CiR7F

AtRERED 3-BEER HRAIRE A
PR WA ImLx1 £ 4°CIRTF | 8mM, %R | {EEM 4mM BT 4R
R .

=. FTERNEMAM:
FEAR{X. 96 FLik. TJIERIERE. B ONL. TFEk. Z&IBK
M, 3-BAERHH(G3P) R EME
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1. FEARGIE:
D BREX:

FRERZY 0.1g HAFEARIAGFEASH, IO ImL REUKR, 7EK E#HFTEK, 12000rpm, 4°CH=RH

10> 10min,  BX_E7E&FEN

] . FEMEARE, FRBHEARE (o) : RBEURmML)A 1: 5~10 BIELGIBHTIZER.
2 ME/MEREAR:

FZEARFERZEOER, BUOEFLE B 500 THEIEMEINA ImL

REUR, BAEEEHARESAE (K5, ThE 200W, #7 3s, [8fF 10s, X 30 X) ; 12000rpm 4°C
B0 10min, B EE, BKERFN.
] : ZEnErsE, TIRBEE/AREE (10 : BEGE (mL) J3500~1000: 1 BYELBIHITIREL.
@ BEHEA: BENRAEFAEENE, &FRNECEREFREN,
2. _EHLAE

) EEFR{TRA 30min, TR 510 nm,

Q@ FrBRFIBEZEER (25°C) .
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gH= | e | 60 | 60
BE, FiR (25°C) #EXIFE 60min, T S10nm REEE A H
(EE AEARE) .

GE] #MEE A BT 0.05, MBS VI (NEE 0L, WRH AN | RAR VI BRAFHARERITH. 2NE
B AEAT | WBHHALTHE (HRIERRE) SURSHAINRE VI (0RE SuL, MSA THS®M)  HREKD
AR VI BRATEARENTE.
£ \ %%VI_E- H
I, BEARETE:
3-BEER H ih(umol/g FE)=(C ARAEXV2) X(A JUE-A ZHA)(A FRA-A TH)+(WxV1+V) xD
=4x(A WE-A ZHE)(A fofE-A ZH) ~WxD
3-BEER Hl(ng/s EE)=(C FRAEXV2) X(A UE-A EEA)HA FRA-A TH)+(WxV1=V) xD
=864.16x(A JUE-A = A)+(A tRfE-A =H) +WxD

2. RMBHEITHE:
3-BEER H I (umol/10% cell)=(C FRAEXV2) X(A ME-A ZEH)+(A FRA-A ZH)+(500xVI+V) xD
=4x(A WE-A EH)(A FE-A EH) +500xD
3-BERR H H(ng/10% cel)=(C FRAEXV2) x(A UE-A Z H)+(A FRAE-A 8 [)+(500xV1+V) xD
=864.16x(A ME-A =E)+(A trE-A =H) +500xD
3. R HEHBEEITE:
3-BERR Hi(mmol/L)=(C #RAEXV2) X(A JUE-A ZE)HA #RE-A TH)+VIxD
=4x(A WE-A BE)A fRE-A EH) xD
3-BERR H I (ng/mL)=(C FRAEXV2) x(A U E-A %= B)+(A trAE-A EH)+-VIXD
=864.16x(A ME-A ZH)+(A trf-A ZH) xD

C $rAE---4mmol/L=4umol/mL=864.16pug/mL; V--—-1BE& TR, 1mL;

VI--BARIINGIR, 0.01mL; V2t R IINGERR, 0.01mL;
500-—-4fEKE. T, D---BRHEERABRERA 1,

W ABHRE, g.
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